5 60

1. a,b,c a+b=7b+c=9,a+c=8, abc=
Ans. 60

2. ab

Ans. 3
Ans 1—??\/5
n. .n. .n._
4, n 100 [E] +[§] +[E] =n, [X]

Ans. 16

5. ABCD CEFG FG=4
DAEG
Ans. 8 A D

B C G

a b _6a-15b  4a*- 5ab+ @b’
3 2a-5b a | a’-2ab+3°
9
2

3 =81, 3%° 81"° 81° 3*(mod100).



8. ABC ? 2M
PA+PM
Ans: 4\/5

9.

Ans: 320
10.

AB 10
Ans: 120

11.

Ans: 9801

12.
ABC, -]

Ans 1

AB P BC
?a b, a’-b’=

852

123,10




20 , 60
( )

1. a,b,c l<a<b<c, (ab- 1)(bc- D(ca- 1) abc
a,b,c
()
(1) abcl N 1<a<b<c
(ab- 1)(bc- 1)(ca- 1) “k Ki N
abc

p abc- (a+b+c)+£+1+}-i:k kT N
a b c abc
l<a<b<c a,b,cl N

1 1 1 1 ab+bc+ca-1
+ = >

JR S B 0
a b c¢ abc abc
(2) 1+1+1_i:n'|\ N
a b c¢ abc
l<a<b<chb 1>1>1>l a,b,cl N
a b c¢
1 11 1 1 1 13 1 1
4+ = 44 ="c — <1
a b c 2 3 4 12 abc 24
111 1
e
a b c abc
.1 1 1 1
ie —+—+—-—=n=1
a b c¢ abc
(3)1+1+}_ 1 :ab+bc+ca-1=1
a b c¢ abc abc
P ab+bc+ca=abc+1
® a,b,c P + + = ? = +1( )
@ a,b,.c P + + = 2?2 = +1( )
® a,b,c P + + = = +1( )
@ a,b,c P + + = 2?2 = +1( )
DEAE)
a,b,cl N
£+1+£>1 i<1 l<a<b<c
a b c abc

a=2 b=3 c=5



(

)

3.

2, DABC
(1) D AB AD=BD=CD=2 AB=AD+BD=4
AB=c=4 BC=a AC=b
a+b+c=27+4 K__.A
a+b=2/7 ™\
c’=a’+b*=4°=16 c
DABC :%ab :%ga+ b)? - (@° +b?)y D b
:%gzﬁ)z - 160=3 p
P ab=6 BXS a 7C
(20 o DABC EF.G
OG=0OF =CG=CF = ( )
AG=AE=b-r BF=BE=a-r
a-r+b-r=AB=c=4
P a+b-2r=4
o_atb-4_ 2*/—7'4=\/7-2
2 2
0 =p rZ:p(ﬁ_z)Z:p(11_4ﬁ) ar
B &
DEGF DE=DF GE=GF PDEG=90 ©DDFG=90 A
EF DG J EG E FJ FG
| H D 1 A F J H
)
AJ ID I
FGJ IGE
JG/GF = EG/GI J
FAG DEG H G
GF/AG = DG/EG
JG/AG = DG/IG
JGA= DGl . A E
JAG DIG
JAG= DIG
JAF=90°- JAG=90°- DIG= IDF
DI H F IDF+ IHF=180° D

ABC bC=90°,

JAF+ JHF=180° A F J H

27 +4,

b-r

-

T

b-1



